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(EH2l: %)

X 23 = 2601 ZZ9HE | 221242 X224 x| =234 x| =254

16.04.01 ~] 16.01.01 ~| 15.10.01 ~| 15.07.01 ~| 14.07.01 ~ ] 13.07.01 ~| 11.07.01 ~

16.06.30 16.06.30 16.06.30 16.06.30 16.06.30 16.06.30 16.06.30

-2.51 -5.36 -7.67 -13.85 20.23 36.17 43.75
(-1.23) (-5.82) (-8.05) (-8.84) (21.82) (30.43) (49.95)

-1.28 0.46 0.38 -5.01 -1.59 5.74 -6.20

ZF(Class)d & &t

-2.95 -6.20 -8.89 -15.37 16.15 29.32 31.86
(-1.67) (-6.66) (-9.27) (-10.36) (17.74) (23.58) (38.06)

-1.28 0.46 0.38 -5.01 -1.59 5.74 -6.20

= -3.07 -6.44 -9.26 -15.82 14.99 27.46 28.84
CHel A2 ) (-1.79) (-6.90) (-9.64) (-10.81) (16.58) (21.72) (35.04)

uf INEES -1.28 0.46 0.38 -5.01 -1.59 5.74 -6.20
BPIE}F%EN OEF?H%JC‘&E__X'}M -2.83 -5.96 -8.55 -14.96 17.26 31.17 35.01
( Bl X==0i8l 80 ) (-1.55) (-6.42) (-8.93) (-9.95) (18.85) (25.43) (41.21)
Hl w X &= -1.28 0.46 0.38 -5.01 -1.59 5.74 -6.20
argp%fﬁl)ofﬁf?& -2.71 -5.74 -8.22 -14.55 18.35 33.00 38.19
( Bl X==0i8l 80 ) (-1.43) (-6.20) (-8.60) (-9.54) (19.94) (27.26) (44.39)
H w X == -1.28 0.46 0.38 -5.01 -1.59 5.74 -6.20
=l -2.82 -5.89 -8.48 - - - -
(-1.54) (-6.35) (-8.86) - - - -
-1.28 0.46 0.38 - - - -
-2.68 -5.71 -8.18 - - - -
(-1.40) (-6.17) (-8.56) - - - -
-1.28 0.46 0.38 - - - -
-2.87 -6.04 -8.67 - - - -
(-1.59) (-6.50) (-9.05) - - - -
-1.28 0.46 0.38 - - - -
-2.86 -6.03 - - - - -
(-1.58) (-6.49) - - - - -
~1.28 0.46 - - - - -
2.75 5.8 -8.34 - - - -
(-1.47)| (6.8  (-8.72) - - - -
-1.28 0.46 0.38 - - - -




SEEIIVE=ETES N

ﬂiﬁxiwgm C? -3.04 -6.38 -9.16 -15.72 15.24 27.82 29.29

((BIRXI20HE St ) (-1.76) (-6.84) (-9.54)|  (-10.71) (16.83) (22.08) (35.49)
b ® X = -1.28 0.46 0.38 -5.01 -1.59 5.74 -6.20
SRS ON

aﬁqxﬂﬁwwﬁf -3.01 -6.32 -9.07 ~15.62 15.57 28.37 30.26

(BRSO 82 ) (-1.73) (-6.78) (-9.45)|  (-10.61) (17.16) (22.63) (36.46)
o ® X = ~1.28 0.46 0.38 ~5.01 ~1.59 5.74 ~6.20
SEEIVE=ETES N

aﬁixﬂngﬂf -2.98 -6.26 -8.98 ~15.50 15.82 28.78 -

((BIRXI20HE St ) (-1.70) (-6.72) (-9.36)|  (-10.49) (17.41) (23.04) -
b ® X = -1.28 0.46 0.38 -5.01 -1.59 5.74 -
SRS ON

M;r($i!§)*_;laH£C§ -2.95 -6.20 -8.90 ~15.40 16.10 29.24 -

(BRSO 82t ) (-1.67) (-6.66) (-9.28)|  (-10.39) (17.69) (23.50) -
o ® X = -1.28 0.46 0.38 ~5.01 ~1.59 5.74 -
SEEIVE=ETES N

a”;bjﬁ;ﬂAg* -2.78 -5.88 -8.43 ~14.80 17.71 - -

((HIRXI£0HE &) (-1.50) (-6.34) (-8.81) (-9.79) (19.30) - -
o ® X = -1.28 0.46 0.38 -5.01 ~1.59 - -

¥ HIWX2= o (1 * [KOSPI])

¥ A SNANS WA 43S LIEtE ¥ Do 2SHdusE 2= A2 OtELICH

P FA2X (21 %)

HoHSAE SlS

P S8 (Er9l: sHorel)

sd DH & 2 SR
= TS EOIHE fois

?I . e & [yg g gz | JF [ =HEA
=4 XA GE= = L | B2 T ok JIEt

&I | -3.887 - - - 1 - - | - - = 5 5

&0 | 5,504 - - - N B R R . 3 - —
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& | Bl
ZIEb | 1.19 J1et 1 38
coltiEo = ] 0.25 ch| &gl 2 70_27
SEARA 70.00 E XpAL 70_00
FSo | 0.00 HEAL 7o_oo
o AHE | 0.00 opAHE | 0.00
FSh=In NS 70.00 FStEXEH 7o_oo
olg | 0.00 ofg | 0.00
M | 0.00 2 | 0.00
EVI: ‘ ‘ ‘ ‘ ) 98.57 EVI: ‘ ‘ ‘ ‘  98.35
0.00 20.00 40.00 60.00 80.00 100.00 120.00 0.00 20.00 40.00 60.00 80.00 100.00 120.00
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= T AS SE XA
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o;; A e e f;;;[ su | me | @ [asxe| oe Ejﬁ; Sl B
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e EIS V=R == N=TEN 0.06 | 0.16 0.10 | o.
SIS EINETES ONSTESN 0.13| 0.05 0.15| o.
=SB ETIES N EN 0.83 | 0.34 122 0.
CI20IEHE V=S EINETTES ONSTESN 0.75 | 0.31 0.40 | o.
s(FH)=E I E DI OFS A S KAl EH(F A 0.13 | o0.28 0.48 | o.
V=S EINETTES ONSTESN 0.87 | 0.25 0.84 | o.
=SB ETIES N EN 2.56 | 0.09 2.37 | o.
HETHAIE 2 AH(AIEFRI L) 14.09 | 0.01 15.47 | 0.
QU BFALR 22| 3] At 10.06 | 0.01 11.05 | o.
24 3 713.75 | 2.72 799.45 | 2.
IS 1.74] 0.00 1.88] 0.
OH OH » CHE=OHOH. S =22 66.21 | 0.04 35.25 | 0.
Elas |ZASHUD S HHIA 222 70.46 | 0.04 33.78 | o.
= 8| 136.67 | 0.09 69.04 [ o.
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2= e AUt
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HiEA) | +2H128)| HI = (A) +2HI186B) | ©
= &I 0.00 0.34 0.34 0.00 0.34 0.34
=] 0.00 0.16 0.16 0.00 0.16 0.16
=2 (class)" &

C LI EAERAIE &I 1.76 - 1.76 1.76 0.34 2.10

(A ZeHAA =] 1.76 - 1.76 1.76 0.16 1.92

C LI EAERAlIE &I 2.26 - 2.26 2.26 0.34 2.61

(Z=Al)ZeHACT =] 2.26 - 2.26 2.26 0.16 2.42

C LI EAERAIE &I 1.26 - 1.26 1.26 0.34 1.60

(ZA 2 AC- =] 1.26 - 1.26 1.26 0.16 1.42

C LI EAERAIE &I 0.79 - 0.79 0.79 0.34 1.13

(F2) 22 | =l 0.79 - 0.79 0.79 0.16 0.95

C LI EAERAIE 0| 1.26 - 1.26 1.26 0.34 1.60

(Z=Al)ZehACe =] 1.26 - 1.26 1.26 0.16 1.42

C LI EAERAIE XD 0.76 - 0.76 0.77 0.33 1.09

(Z=Al)ZeHACN =] 0.76 - 0.76 0.76 0.15 0.92

C LI EAERAIE XD 1.43 - 1.43 1.43 0.34 1.77

(Z=ANZHACP =] 1.43 - 1.43 1.43 0.16 1.59

o0l EHE KAl Sl 1.41 - 1.41 1.41 0.26 1.67
=Al)Z e AC-P2

(o)l =9 1.41 - 1.41 1.41 0.15 1.56

CICIOEAERAlIE XD 0.96 - 0.96 0.96 0.34 1.31

(=A)ZHASP =] 0.96 - 0.96 0.96 0.16 1.12
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6. SAFAFAHONOHLH <
> HOHFAAE & JN= (Ch9: = wior2l 9)
CIUEDCIOISAETAME(FA)RS
OH 2 of = BRI
&> 2 o &> =2 o EPIE, e
1,599,012 32,110 1,243,364 32,137 18.35 72.80
1) HYERIIZ B s FAIIK SHS dig 22II2% & 2R FAQ BRIACZ Lie B8
> X2327| OHOHS & E F0| (SH9l: %)
2015.07.01 ~ 2015.09.30 2015.10.01 ~ 2015.12.31 2016.01.01 ~ 2016.03.31
26.07 21.19 37.15
B2 HOHHH====Z (0. 1%LH2l) L SHAHMM(OHEZAl 0.3%) Moz AXH EXXIE SEGHA

=
e

) HHSINMEO0l =2 22

T= BE HIZ0| SOtELICH
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